

الف) 12, 9, 13

أبسا عليا

$$t_n = a + (n-1)d \Rightarrow t_n = 12 + (n-1)(-3) = 12 - 3(n-1) = 15 - 3n$$

9

$$t_1 = 12, t_2 = 9, t_3 = 13 \Rightarrow t_n = 12 + (n-1)(-3) \rightarrow S_{10} = \frac{10}{2}(12 + 12 - 3 \times 9) = 15$$

9

$$t_1, t_2, t_3, t_4 \rightarrow 12 + 11d = 12 + 11 \times (-3) = -21$$

$$1 + \sqrt{3}, 2, 3 - \sqrt{3} \rightarrow t_{25} - t_{13} = 2d \rightarrow 2(1 - \sqrt{3}) = 2 - 2\sqrt{3}$$

9

$$x^2, x^2, y \rightarrow x^2 + y = 2 \times 3 \times x^2 \rightarrow y = 4x^2 - x^2 = 3x^2$$

9

$$y = x^2 \times x^2 \rightarrow y = x^{2+2} \rightarrow 2x+1 = y \rightarrow 2x-y = -1$$

$$xy = 3$$

$$x+y = 4 \Rightarrow 3x = 3, x=1, y=3$$

$$2x-1, 2x-1, 4x \rightarrow 4x = 2x-1 + 3 \Rightarrow 2x = 2, x=1$$

9

$$-3, 0, 3 \rightarrow t_n = -3 + (n-1)d \rightarrow -3 + (4-1)3 = 6$$

9

$$a_n = 3, 5, 7, 9, 11, \dots \quad b_n = 2, 5, 8, 11, 14, \dots$$

6V 14

$$a_r = 11 \quad b_r = 59 \quad 5, 11, 17, \dots \rightarrow 4n-1 \rightarrow 4n-1 \leq 1 \Rightarrow n \leq 1$$

$$a_1 + a_r + a_r = 3ar = 21 \Rightarrow ar = 7$$

$$\frac{V}{-21} = \frac{-1}{3}$$

9

$$a_1 + a_r + a_r = 10d \rightarrow 3a_1 + 4d = 10d \rightarrow a_1 + 2d = 3d = ar$$

$$a_1, ar, ar \rightarrow a_1, 7, 3d \Rightarrow a_1 = -11, ar - ar + a_1 = 3d - 7 - 11 = 7$$

$$a_1 + ar + ar = 10d \rightarrow 3ar = 10d \rightarrow ar = d \quad a_{10} = 2 + (9)3 = 29$$

11

$$ar + ar, 2d \xrightarrow{ar} ar + 2d + ar + 2d = 4d \rightarrow 10 + 4d = 2d \rightarrow d = -5, a_1 = 2$$

9

Subject :

Date :

$$\frac{q}{r} (a_1 + a_4) = \frac{r}{q} (a_1 + a_3) \quad (4)$$

$$a_1 + a_4 = \frac{r}{q} a_1 + \frac{r}{q} a_3 \rightarrow a_1 + 4d = \frac{r}{q} a_1 + \frac{r}{q} a_1 + 9d \rightarrow 4d = \frac{r}{q} a_1 \rightarrow \frac{r}{q} a_1 = d$$

$$\frac{a_4}{4} = \frac{a_1 + 4d}{4} = \frac{a_1 + \frac{r}{q} a_1}{4} = \frac{\frac{r+q}{q} a_1}{4} = \frac{r}{q} a_1 = d$$

$$a_4 - a_1 = 4d = \frac{r}{q} a_1 \rightarrow d = \frac{r}{q} a_1 \quad \checkmark$$

$$a_4 - a_1 = 4d = \frac{r}{q} a_1 \rightarrow d = \frac{r}{q} a_1 \quad \checkmark$$

$$n = \frac{a_n - a_1}{d} + 1$$

$$\frac{17 - 11}{n + 1} = -\omega$$

$$n + 1 = \omega \quad n = \omega - 1$$